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In [1]:

import matplotlib.pyplot as plt
import numpy as np
import pandas as pd
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T4 UZELENN0.5KEBR S E(Z=0), BEULELEN 05U EIRSREZ=1)EFRIRITDCET. NFEROA%T
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In [2]:

i f np. random. rand()<0.5:
Z=0

else:
Z=1

Z

Out[2]:
1

D1 HITaEDRL, TOM-REEIFT D,

In [3]:
trial = 10000 # a4 URIFOMEE
Record = [] # OA4 VBT EEETEHEHD) R FEERE, PEAEKE
for _ in range(trial):
i f np.random. rand(1) < 0.5:
Z=0
else:
Z=1

Record. append (Z)
Coin = np.array (Record) oA oBRFOBROFRFINDZ YR ML T LA I
Coin
Out[3]:
array([1, 0, O, ..., 1, 1, 1])



In [4]:

t EXNTSLA
plt.hist(Coin,
range=(-0.5,1.5), # 1@%iE%E
bins=2, i PR EIEE
color="red’, t BFIETE
alpha=0. 5, t BOES (0~1)
ec="k') i HEICRE D+ 3 (k=black)

plt. xticks ([0, 1])

Out[4]:

([Kmatplotlib. axis. XTick at 0x2806dcb6160>,
<matplotlib.axis. XTick at 0x2806dcb6130>],
[Text(0, 0, '), Text(0, 0, "))
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2. RORTEE

In [5]:

# ZOBEHOZERFE
s =0# #MEAE
S=1[s] # #¥HIEZL N7 LA
for x in Coin:
s =8+ X
S. append (s)
S = np.array(S) t FLAICLTHL EER
S

Qut([5]:
array ([ 0, 1, 1, ..., 4998, 4999, 5000])
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In [6]:

# ROBBOBELILDOR TR

X_range = np.arange (0, trial+1)
plt.plot(x_range, S, color="blue’)
plt.ylabel ( Frequency') #y BiDS AL

Qut[6]:
Text (0, 0.5, 'Frequency’)
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3. XK#DER

IS CIXRIEDER S =2 X 2h. HEITE R (relative frequency)lCEX LS, BEHCESNTWLS S ZAWSC
ECTD,

In [7]:

rf = 0 # #HAE
RF = [rf] # #IHifEZLMLI=T7 LA
for i in range(trial):
rf = SLi+11/ (i+1)
RF. append (rf)
RF=np. array (RF) B 7LAICLTEL EFEF
RF

Out[7]:

array ([0. . 1 , 0.5 . ..., 0.49989998, 0.49994999,
0.5 D

ROEXSAE RF DERKZEILDREIR



In [8]:

plt. figure(figsize=(10,4))
plt. plot (x_range, RF, color="blue’) t £EFRR

plt.yticks(np.arange(0, 1.1, 0.1)) DEREE (FEEE0E)

#y B
plt.ylabel ( Relative Frequency’) ty BOSANJL
plt.hlines(0.5, 0, trial, color="red") #t y=0.5 OEE

Out[8]:
<matplotlib.collections.LineCollection at 0x2806e080a00>
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In [9]:

# ROMBNBEEORBHLEILOR T (FBFEEO—HEmY H9)
plt. figure(figsize=(10,6))
plt.plot(x_range, RF, color="blue")

plt. yticks (np. arange (0, 1.1, 0.1)) #y BHOOFAEE (SF & 1E)
plt.ylabel (Relative Frequency’) ty EOSAN)L

plt.hlines(0.5, 0, trial, color="red)

plt.axis([8000, 10000, 0.45, 0.55]) # x BEh%x 8000~10000, y#Ehz 0.45~0.55 [ZHIfE
Out[9]:

(8000. 0, 10000.0, 0.45, 0.55)

Relative Frequency
[=]
[¥,]
0

8000 8250 8500 8750 3000 9250 9500 9750 10000

In [ ]:



